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Part I Reading Comprehension (50 points)

Passage 1
Will America produce enough competent workers to meet the nation's needs in the 21th
%Century? That question lies at the heart of the most recent dispute over this country.

According to the Bureau of Labor Statistics, about 21 million new workers will be needed by
the year 2000, and the fastest growing occupations will be those that require the most educational
preparation. A report predicts that the current average skill level of 21-to-25-year-old is 40 percent
lower than the skill-level that will be required of the new workers needed by that year. Yet
between now and the year 2000, about 80 percent of new workers will be women and minorities,
groups whose members have ever lagged in educational achievement. Businessmen, educators and
politicians are all concerned.

The basis of the concern is the simple fact that the natural pool from which America has

historically drawn new workers -- young adults - is becoming mainly made up of minorities.

Populations overlooked or ignored -- because there were more than enough young white males to
fill the nation's job demands -- are now the focus of concern about the future werkforce.

The report says: “As America heads toward a more demanding skill-intensive ecohomy, a
literate, educated workforce is essential to our ability to compete in the world market. Unless we
act now, we will face a serious shortage of skilled workers."

it should be clear, from the above, that much of this concern about the future of America's
workforce may not be unreasonable. The nation will become more dependent on women and
minority workers; at the same time they will become better trained and better educated.

And while many worry that there may be too few workers by the year 2000, the BIS has
noted that this may not reflect "an overall lack of workers,” but the declining numbers in the
younger age groups in the labor force. In fact, the BIS reported, "The workforce of the future will
be older." Of course, this is another question to this topic.

1. The question, meeting the nation's needs of workers, becomes in America.
A) a serious problem

B) the key point of recent discussion

C) the focus of the whole nation

D) a problem in every mind
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2. By the year 2,000, the required workers would
A) be new
B) have received higher education
C) go in for the fastest growing occupations
D) reach 21 million totally
3. 80 percent of the new workers will come from
A) white groups
B) other groups except the white
C) black women
D) black and white women
4, What is the focus of concern about the future workforce?
A) Less attention is paid to the qualities of populations.
3y white males will fill the nation's job demands.
C) More minorities will {ill the nation's job demands.
13) All of the above.
5. We would be short of skilled workersit
A} we didn't show great concern for this matter.
B) we ignored the shortage of skifled workers.
C) we could not have literate, educated workforce.
D) we didn't take effective measures to improve our education.

Passage 2

Last Thursday an old chap came to our school to talk about the evils of smoking. He said he
wouldn't go on for too long, and we saw him take his wristwatch off and lay it on the table. T can't
remember what he said about smoking because Slater and I had other things to think about. He
finished when the bell rang for playtime, and the headmaster told us to go out. Slater happened to
ship.

In the playground Slater showed me the watch. He put it on his wrist, and it looked lovely, I
was wishing that I'd been the one to slip by the table, because it was a beautiful watch, gold by the
look of it. The headmaster came outside then, and the old boy was with him. They walked about,
looking around and talking all the time. After a bit the bell rang, and we got into our lines, ready to
g0 in,

The headmaster said, "I've got a little job for vou boys. This gentleman, our lecturer, has just
lost his watch in the playground. It's happened before, he says --- it just slips off his wrist. So look
around for it, will you? See if you're clever enough to find it. I've no doubt the boy who does so
will get a useful reward? "

Well, of course, Slater wasn't going to miss a chance like that. He's just about the luckiest
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devil in the school —- rewards just drop into his hands. We all walked about the playground,
looking for the watch. And I wasn't a bit surprised when Slater bent down as if he was picking
something up. Then he hurried past me towards the old man.

"Where are you going?" 1 called out, though 1 knew very well where he was going. "Where
do you think?" he called back.

And the next minute there was Slater, all smiles, handing over the watch to the old fellow and
hanging about for the reward.

But the lecturer didn't seem at all pleased. In fact he looked quite ready to put a knife in
Slater's heart - until the headmaster burst out laughing. Then they both laughed. Slater told me
afterwards that the old man hadn't even said "Thank you" for the watch.

The thing that puzzled us most of all was that Slater didn't get any reward. When he reminded
the headmaster about it, the headmaster said: "Ah yes, we mustn't forget that I said ‘a useful
reward’, didn't 17" And then he gave Slater a big sheet of paper and told him to write a
composition on the evils of smoking. Slater says he hasn't got a clue what to write.

6. What were the boys thinking about during the lecture?
A) They were not thinking about anything.
B) About the watch --- how to get it, perhaps.
C) They were thinking about the evils of smoking,
D) They thought the headmaster was clever.
7. Why did the story-teller wish that he had slipped?
A) Because it was a beautiful watch.
B) He thought that he could have taken the watch if he had slipped.
C) If that had happened. the watch wouldn't have been lost.
D) In that case he wouldn't have given it back to the lecturer.
8. "The headmaster came outside then, and the old boy was with him." Who was the old boy?
A) An old student.
B) The lecturer.
C) The headmaster's son.
D) A servant.
9. When Slater "bent down", what was he trying to do?
A) He did so in order to pick up the waich.
B) He was trying to hide the fact.
C) He was trying to pick it up.
D) He was pretending to have found something.
10. Why didn't Slater get the kind of reward he expected?
A) The headmaster had forgot it, probably.
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B) Because the lecturer did not agree to give him any reward.
C) Because the headmaster never meant to give the usual kind of reward to anyone.
D) Because the headmaster did not keep his word.

Passage 3

Look at your watch for just one minute. During that time, the population of the world
increased by eighty-five people. Perhaps you think that isn't much, In the next hour, more than
5,000 additional people will be living on this planet. So it goes, hour after hour. In one day, there
are about 120,000 additional mouths to feed. Multiply this by 365, What will happen in 100 years?

This population explosion may be the greatest challenge of the present time. Within the next
forty years, the world population may double. Can the new frontiers of science meet the needs of
the crowded world of tomorrow?

If the present rate of population increase continues for the next 600 or 700 years, there will be
standing room only. Each person will have between 3 to 10 square feet of space in which to live.
This includes the mountain-tops, deserts, and the ice and snow fields of the polar region. Of
course, no one expects such a thing to happen. War, plague, famine, or some other catastrophe can
be expected to occur long before the population reaches this point. Actually, the danger is not in an
overcrowded world where people are huddled together so that they cannot move arms and legs,
but in an upset balance between population and resources.

Since 600 years is so far away, take a look at the years directly ahead. How can the hungry
people be fed? About half the babies born now will not have enough to eat. Is the world running
out of water? Will there be enough fuel? What will supply the energy needed to run the machines
of tomorrow's world? Certainly, man must look to the future and find new ways of providing for
his needs.

11. What is implied in the first paragraph is that the increase of population is
A) a key problem
B) a burning question
C) a natural disaster
D) a hard task
12. The word "huddle" (para. 3) means _____.
A) to crowd together.
B) to go in the way.
C) to move towards.
D) to do seriously.
13. According to the passage the chief danger caused by the population explosion liesinthat____ .
A) war, plague, famine, etc. are likely to happen.
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B) All new-born babies will not be fed adequately.
C) resources are not able to meet the needs of the population.
D)BothBand C
14. Which of the following statements is NOT mentioned?
A) More than 120,000 babies are born in one day.
B) Modern medicine can be regarded as the main cause of the population explosion.
C) The author is worried about future power supply.
D) The danger results from an unbalance between population and resources.
15. The author's answer to the challenge of population explosion seems to be .
A) well-grounded.
B) sensible.
C) encouraging.
D) satisfactory.

Passage 4
Homing pigeons are placed in a training program from about the time they are twenty-eight days
of age. They are taught to enter the loft (/&%) through a trap (#%%[] ) and to exercise above and

around the loft, and gradually they are taken away for short distances in wicker baskets and

released. They are then expected to find their way home in the shortest possible time.

In their training flights or in actual races, the birds are taken to prearranged distant points
and released to find their way back to their own lofts. Once the birds are liberated, their owners,
who are standing by at the home lofts, anxiously watch the sky for the return of their entries. Since
time is of the essence, the speed with which the birds can be induced to enter the loft trap may
make the difference between gaining a win or a second place.

The head of a homing pigeon is comparatively small, but its brain is one quarter larger than
that of the ordinary pigeon. The homing pigeon is very intelligent and will persevere("EFF) to the
point of stubbornness; some have been known to fly a hundred miles off course to avoid a storm.

Some homing pigeon experts claim that this bird is gifted with a form of built-in radar that
helps it find its own loft after hours of flight, for hidden under the head feathers are two very
sensitive ears, while the sharp, prominent eyes can see great distances in daytime.

Why do homing pigeons fly home? They are not unique in this inherent skill; it is found in
most migratory birds, in bees, ants, toads, and even turtles, which have been known to travel
hundreds of miles to return to their homes. But in the animal world, the homing pigeon can be
trusted with its freedom and trained to carry out the missions that people demand.

16. What happens to homing pigeons when they are about a month old?
A) They are kept in trap.
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B) They enter their first race.
C) They begin a training program.
D) They get their wings clipped.
17. What is the aim of these training programs?
A) They could get to the loft through a trap.
B) They could exercise above and around the loft.
C) They can find their way home in the shortest possible time.
D) Both A and B.
18. What is the difference between a homing pigeon and an ordinary one?
A) The span of the wings.
B) The shape of the eyes.
C) The texture of the feathers.
D) The size of the brain.
19. According to the passage, why could homing pigeons find their way back after hours of flight?
A) Because they have an internal radar- like system.
B) Because they have two very sensitive ears.
C) Because they have a comparatively small head,
D) Because they have strong wings.
20. Why does the author mention bees, ants, toads, and turtles in the last paragraph?
A) To describe some unusual kinds of pets.
B) To measure distances traveled by various animals.
C) To compare their home-finding abilities with those of homing pigeons.
D) To interest the reader in learning about other animals.

Passage 5

One friend once said to me, "Do you know that most college students can't even put
semi-colons(%3-%5) in the right place?" Emphatic voices like his have recently made writing
courses popular, strangely popular because of their hard-nosed attitude toward correct writing.
Most administrators and teachers extend this medicinal metaphor, they agree that students are
suffering from a serious disease., Many tests identify increasing numbers of student writers as
skills cripples (B%7-), and they need treatment. Remedial courses are given everywhere. More
writing labs are appearing and expanding.

Many students are willing to believe that there is really something wrong with them. More
students than ever before tell me and my colleagues that they are indeed bad writers and need lots
of help with grammar and punctuation. I feel like a doctor, my job is to diagnose(i2 i) the disease
and prescribe cures whenever 1 read student writing. It would be easy enough for me to circle
spelling errors, cross out unnecessary commas, line out wordy sentences. And knowing that this
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sort of marking can sting, I would of course write, onto the end of the paper, something about how
I know the student really tried hard, something about his rich imagination or his clear potential for
doing well.

But 1 wonder whether all these well-intentioned scrawls(## &L JLAJ1E), would do little
more than confirm my student's fears about how crippled he is.

One friend once said to me, "Do you know that most college students can't even put
semi-colons in the right place?" Emphatic voices like his have recently made writing courses
popular, strangely popular because of their hard-nosed attitude toward correct writing. Most
administrators and teachers extend this medicinal metaphor, they agree that students are suffering
from a serious disease., Many tests identify increasing numbers of student writers as skills cripples,
and they need treatment. Remedial courses are given everywhere. More writing labs are appearing
and expanding.

Many students are willing to believe that there is really something wrong with them. More
students than ever before tell me and my colleagues that they are indeed bad writers and need lots
of help with grammar and punctuation. I feel like a doctor, my job is to diagnose the disease and
prescribe cures whenever I read student writing. It would be easy enough for me to circle spelling
errors, cross out unnecessary commas, line out wordy sentences. And knowing that this sort of
marking can sting, 1 would of course write, onto the end of the paper, something about how I
know the student really tried hard, something about his rich imagination or his clear potential for
doing well.

But I wonder whether all these well-intentioned scrawls, would do little more than confirm |

my student's fears about how crippled he is.

21. According to the passage, a "skills cripple" ( Para. 1) is someone who
A) has illness
B) is a awkward
C) is a poor writer
D) injures his leg
22. Which of the following is the purpose of the first paragraph?
A) To describe some successful doctors.
B) To compare poor writers with diseased people.
C) To tell why students are poor in health
D) To show the importance of a teacher's job.
23. It can be inferred from this passage that most students
A) admit their incorrect writing
B) Use their dictionaries
C) correct their own papers
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D) help each other in class
24. Which of the following is TRUE of teacher's correction of his student's writing errors?

A) It is good to correct all the errors.

B) A teacher should write something on the papers to encourage his students.

C) A teacher's handwriting must be tidy and clear.

D) A teacher had better point out the way for each student to improve his writing.
25. The author of the passage is probably a

A) doctor

B) patient

C) student

D) teacher

Part I1 Translation From Chinese to English (30 points)
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Part ITI Translation From English to Chinese (30 points)

In the house a door shuts with a bang, curtains billow into the room. I rush to close the
windows, empty the clothesline, secure the patio furnishings. Thunder begins to grumble in the
distance.

The first drops of rain are huge. They splash into the dust and imprint the windows with
individual signatures. They plink on the vent pipe and plunk on the patio roof. Leaves shudder
under their weight before rebounding and the sidewalk wears a coat of shiny spots.

The rhythm accelerates; plink follows plunk fuster and faster until the sound is a roll of
drums and the individual drops become ar ariny marching over fields and rooftops. Now the first
bolt of lightning stabs the earth. it is heaven's exclamation point, The storm is here!
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Part IV Writing (40 points)

Direction: For this part, you are allowed to write a composition of no less than 500 words on the
topic “Can China Win the Nobel Prize?”. Your article should be based on the following outline.

1. Choose either of the two positions: China Can(not)Win the Nobel Prize.
2. State your reasons for or against the issue
3. Conclusion

#—?]ﬁﬁ?ﬁ




	6051.pdf
	6052
	6053
	6054
	6055

